S.6 Principle of Accounts Project (2004-2005)


Saint Honore Cake Shop Ltd.
Saint Honore Cake Shop is a homegrown success story since 1972 when the 1st cake shop was opened in Happy Valley. 18 years later, the business has blossomed to 16 branches. In 1991, Saint Honore Cake Shop becomes the subsidiary of the Hong Kong Catering Management Limited, a publicly listed company in the Hong Kong stock market. At present, Saint Honore Cake Shop operates more than 50 bakery shops in Hong Kong and Macau catering to an average of around 5,000,000 customers a month. Saint Honore Cake Shop is made up of an energetic and dedicated work force of more than 1,000 people. All are trained to serve the customers to total satisfaction. Their products are specially designed to meet the needs of the customers. Their standard product list contains in excess of 100 varieties of bakery items. Other than providing bread and cake, Saint Honore also provides festive goodies such as nicely and exquisitely packed Chinese New Year Puddings, Rice Dumplings and Moon cakes. Dedicated to quality assurance and customer satisfaction, Saint Honore Cake Shop has been awarded with the ISO 9001 accreditation in 1997. In 1999, an era of diversification began. EC Eatery was launched. This new restaurant concept caters a wide range of Chinese specialties. The extensive menu includes dishes like Shanghai Soya Bean Milk, Sticky Rice, Pork Chop and Vegetable Rice in Taiwan or Shanghai Style and many more.
Business Type: Manufacturer
Address: 5/F, Express Industrial Building, 43 Heung Yip Road, Wong Chuk Hang, Hong Kong.
Tel no.: 2873-0832
Website: http://www.sthonore.com
Profitability

	Return on Capital employed
	2003 ($)
	2004 ($)

	Return

---------------- X100%

Capital employed
	18528965

---------------X100%

148509643
	45358971

--------------X100%

186649719

	
	
	


Return: Net profit after tax

Capital employed: Share Capital + reserves + dividend reserve

The ratio illustrates that how efficiently the long term funds are used to generate profit. It is frequently used to measure the profitability of a business.

In 2004, the company has 24.3% in this ratio. It is double of in 2003(12.5%). It shows that the company has more efficiency in using the long term funds to generate profit in 2004.

	Gross Profit margin
	2003 ($)
	2004 ($)

	Gross Profit

--------------X100%

Sales
	350984156*

---------------X100%

494492281
	379389268#

---------------X100%

537515842

	
	= 70.98%
	= 70.58%


Gross Profit = Sales – Cost of inventories consumed

*494492281 – 143508125 = 350984156

#537515842 – 158126574 = 379389268

This ratio gives some idea of the company’s pricing policy and the profitability. The ratio of the company in two years (2003 & 2004) are both above 70% (In 2003 is 70.98% and 2004 is 70.58%). It implies that the company has a high prices policy.

But, the price in 2004 may be lower than in 2003 since the ratio in it is lower.

	Net Profit margin
	2003 ($)
	2004 ($)

	NP before tax

---------------- X100%

Sales
	25425993

--------------X100%

494492281
	52930257

--------------X100%

537515842

	
	= 5.14%
	= 9.85%


The ratio shows the ability of the business to generate net profit and gives some ideas of the company’s pricing policy and cost control.

In 2004, the ratio is higher than in 2003 (2003 is 5.14% & 2004 is 9.85%). It implies that the efficient to generate net profit in 2004 is better than in 2003. Also, the gross profit ratio in 2003 and 2004 are so similar, but the net profit ratio have a large distance. It shows that the control of expenses in 2004 is better than in 2003.

	Asset turnover
	2003 ($)
	2004 ($)

	Sales

--------------

Total assets
	494492281

--------------

338705824*
	537515842

--------------

370820647#

	
	= 1.46 times
	= 1.45 times


Total assets = Non current assets + current assets

*229491418 + 109214406 = 338705824

#221140119 + 149680528 = 370820647

This ratio is showing how efficient the company can generate sales by means of assets employed. Both in 2003 & 2004 are greater than one. It implies that the utilization rate of assets is so efficiency. By comparing, the utilization rate in 2004 is lower than in 2003 since the ratio is lower in 2004 (2003 is 1.46 times & 2004 is 1.45 times).

Conclusion

Concluding of above ratios, the company in 2004 is more profitable than in 2003, although the utilization rate and the price are lower than in 2003. But, there are some factors in 2003 and 2004 cannot be show in the ratios, such as the deflation in 2003 (because of SARS), the recover of economy in 2004. So, only consider the above ratio cannot be determined that the company is good or not.

Liquidity

	Current ratio
	2003 ($)
	2004 ($)

	Current assets

----------------- X100%

Current Liabilities
	109214406

---------------X100%

95003462
	149680528

---------------X100%

100409685

	
	=1.15: 1
	=1.49: 1


It is a ratio comparing current assents and current liabilities. The ratios of the two financial year show that the Saint Honore Limited have sufficient short-term assents to meet the short-term liabilities. The company gets 1.49: 1 in 2004; and 1.15: 1 in 2003. It indicates that the company has a little bit improved in their liquidity.

	Acid test ratio
	2003 ($)
	2004 ($)

	Current assets - inventory

------------------X100%

Current Liabilities
	*101518348

---------------X100%

95003462
	#141535050

---------------X100%

100409685

	
	=1.07: 1
	=1.41: 1


*109214406 – 7696058 =101518348

#149680528 – 8145478 =141535050

This ratio compares current assets less inventory with current liabilities. The acid test ratio of 2003 is 1.07:1, and the ratio of 2004 is 1.41: 1. The Saint Honore Limited was considered satisfactory as the norm is 1:1. It shows that the company doesn’t have a liquidity problem / cash flow problem. 
Investment appraisal

	Earnings per share
	2003 ($)
	2004 ($)


------------ 
	206934950

	
	=9.2 cents (0.092)
	=21.9 cents (0.219)


It is a valuable indicator of an ordinary share’s performance. The ratio in 2004 is higher than 2003. Therefore, the profit available for the shareholder is higher. It also means that it is more profitable to invest the money in the shares.
	Price/earnings ratio
	2003 ($)
	2004 ($)

	Market price / share
-----------------------

Earnings per share
	0.54 #
-------

0.092
	1.29 *
-------

0.219

	
	=5.87
	=5.89


#Market price at 31/3/2003
*Market price at 31/3/2004

It is the ratio of a company’s current share price to the earnings per share. The ratio in 2004 is higher than 2003. A higher P/E ratio indicates stronger shareholder confidence in the company and its future.

	Dividend cover
	2003 ($)
	2004 ($)

	NP after tax & preference dividends

-----------------------

Ordinary dividends paid & proposed
	18528965

------------

10792595
	45358971

------------

27342210

	
	=1.72 times covered
	=1.66 times covered


This shows what proportion of profit on ordinary activities for the year is available for distribution to shareholders and what proportion will be retained in the business to finance future growth. According to the figure, the company is distributing more dividends to the shareholders in 2004 compared with 2003. It can attract more investor to invest into the company.
	Dividend yield
	2003 ($)
	2004 ($)

	Dividend per share

------------------x100%
Market value of share
	0.055 #
--------x100%

0.54
	0.13 *
-------x100%

1.29

	
	=10.19
	=10.08


#Market price at 31/3/2003

*Market price at 31/3/2004

It is the return a shareholder is currently expecting on the shares of a company. The ratios between 2003 and 2004 are similar. 
	Gearing ratio
	2003 ($)
	2004 ($)

	Prior charge capital

------------------x100%

Total long term capital
	95192719
------------x100%

243702362
	83761243
-------------x100%

270410962

	
	=30.06%
	=34.37%


Gearing ratio is concerned with the capital structure of the company. It shows the proportion between share capital and long term debts which make up the total capital employed. The ratio of 2004 is a bit higher than 2003. It implies that a higher portion of funds is obtained from borrowing. The company may reduce it by issuing new ordinary shares, redeeming the debentures and retaining the profits.
	Debt Ratio
	2003 ($)
	2004 ($)

	Total liabilities

----------------x100%

Total assets
	190196181

-------------x100%

338705824
	184170928

-------------x100%

370820647

	
	=56.15%
	=49.67%


The debt ratio is decreased from 56% to 49%. It implies that the company is more stable in the financial structure. It is fewer burdens of liabilities.
Management efficiency
	Inventory turnover
	2003 ($)
	2004 ($)

	Costs of inventories consumed

------------------X365days

(Opening inventories + closing inventories) /2
	143508125    1

---------------X---
6241561*    365
	158126574    1

---------------X---
7871768#    365

	
	15.87 days
	=18.17 days


* $(4785064 + 7698058) / 2 = $6241561

# $(7698058 + 8045478) / 2 = $7871768
This ratio shows the pricing policy of a company and its control of stock level. In this case, Saint Honore Limited got a higher inventory turnover period of 18.17 days than that in 2003(15.87 days); this indicates that the company may adopted a pricing policy of higher selling price in 2004. Besides, the increase in inventory turnover also reflects that the control of inventory level of the company had been improved in 2004; which means that the company was holding fewer inventories in hand, thus, it may save the storage cost, and the inventories may not easily become obsolete because they are up-to-date. 
	Debtors’ collection period
	2003 ($)
	2004 ($)

	Trade receivables

-------------- X365days

credit sales
	2103878       

--------------X365
494492281


	2713071   --------------X365
537515842

	
	=1.55 days
	=1.84 days


This ratio shows the credit control of the company, that is how long the company can get back its debts. From the data above, Saint Honore Limited got a figure of 1.84 days in 2004, which is higher than that in 2003 (1.55 days). This indicates that the company had a lenient credit control in 2004 compared to 2003, and it may suffer form high risk of bad debts; and, if this problem is serious, the company may had a working capital problem which brings adverse effects to the company’s liquidity status.

	Creditors’ repayment period
	2003 ($)
	2004 ($)

	Trade payables

----------------X365days

credit purchases
	8483758    

-------------X 365
146421119*


	10328860 --------------X365
158473794#

	
	=21.15 days
	=23.79 days


Credit purchases: Costs of inventories consumed – opening inventories + closing inventories

             *$143508125-4785064+7698058=146421119

             #$158473794-7698058+8045478=158473794

This ratio shows the company’s self credit control. Saint Honore Limited got a period of 23.79 days in 2004, which is longer than that in 2003(21.15 days). This shows that the company may or may not have a liquidity problem. However, it can be sure that the company’s liquidity status was weaker in 2004 when comparing to that in 2003. In other words, the company has a poorer self credit control in 2004. Because of the lengthen repayment period, the relationship between the company and the suppliers may be adversely affected, and the company may lose the discounts received for early repayment of debts.

Conclusion
In conclusion, Saint Honore Limited performed poorer in its management efficiency in 2004. However, there are still some unforeseeable factors that we cannot see in the company’s financial statements. The company may not have similar sales figures due to some external factors, e.g. the incident of SARs mentioned before; thus, it may not have a similar amount of costs of inventories consumed and stock level. And the increase in inventory turnover in 2004 may not reflect the exact management efficiency the company made. We should determine the status of the company’s management efficiency by referring the ratios related, but at the same time, consider the external factors which cannot be seen in the financial statements. 
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